Analytic Geometry

Bl Calculate the distance between the
following two points.
A(3,7) B(6,11)

My Calculations

Ed Calculate the distance between the
following two points:
A(-7,3) B(2-1)
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Ed Calculate the distance between the
following two points.
A(-6,2) B(-32)
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- ¥ Find the perimeter of the triangle on the

graph below.
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B Show that the triangle on the graph below : [ Show that the triangle on the graph below

is an isosceles triangle.
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2 The Mid-Point of a
Line Segment GZIEED

“Skill Builder

Bl Determine the coordinates of the mid-point : [ Determine the coordinates of the mid-point

of the line segment AB where A = (4, 7) and of the line segment AB where A = (-5, —4)
B=(8,1). : and B =(-1, -10).
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E} Determine the coordinates of the mid-point - (5 3 point M(1, 3) is the mid-point of segment

of the line segment AB where A = (5,2) and : AB, determine the coordinates of point B if
B=(3, 10). the coordinates of point A are (5, -1).
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El Determine the coordinates of the mid-point B if point M(-2, -3) is the mid-point of segment
of the line segment AB where A = (-3, 2) AB, determine the coordinates of point A if
and B = (5, 4). : the coordinates of point B are (-8, -5).
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Ed Find the area of the rectangle on the graph  : [B] The endpoints of the diameter of a circle
below. are at the points A(2,5) and B(8,13). What
y : is the length of the radius?
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El The endpoints of the diameter of a circle
are at the points A(-3,2) and B(1,5). What is
the circumference of the circle?
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Kl Given the end-points A = (5,-2) and
B = (0, 3) of line segment AB, what are the
coordinates of the point P that divides
segment AB in the ratio 3 : 2 from point B?

P(3,0)

3 The Division Point of a

Line Segment CIXEED
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Ed Given the end-points A = (2, 1) and
B = (6, 9) of line segment AB, what are the
coordinates of the point P that divides
segment AB in the ratio 3 : 1 from point A?
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segment AB from point A, what are the
coordinates of point P if A = (-3, 4) and

B = (6, 1) are the end-points of segment AB? :

P(32]
-3+%(e-3) 4+ Y3(1-4)
4 4 (-3)
"3+%(a)
-3+6 Hy -2
;1 2

. 1
- B If the point P is located 1 of the way along

segment AB from point B, what are the
coordinates of point P if A = (5, -1) and
B = (-3, 7) are the end-points of segment AB?
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: A Apoint P =(7,1) divides segment AB in

a ratio of 2 : 1 from end-point A = (5, 3).
What are the coordinates of point B?
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What are the coordinates of point A?
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- B A circle is drawn on a Cartesian Plane.

: 5 3). . .
n I point M(E’_E) i5themid-poiitof The end-points of a diameter of this circle

segment AB, determine the coordinates of - are located at point A = (-2, _'l) and point
point A if the coordinates of point B are : B = (8, 5). What are the coordinates of the
(0, 0). 2 centre of this circle?
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n If point M(— é ,l) is the mid-point of m _The locations of Dan'’s, Eric’s, and Peter’s
2°2 - houses have been plotted on a Cartesian
segment AB, determine the coordinates of - Plane, and a straight line can be drawn
point B if the coordinates of point A are : through the three locations. What are the
(4, 5). coordinates of Eric’s house if Dan’s house
B( - ‘A : D(-1, 1) is the halfway point between Eric’s
—7 . and Peter’s house P(3, 5)?

: g(=5 -a)
. /' e

-32_ = -4 ;_2(- L~ yzt o) My Calculations SRS SPINIPTSIIN Y
—3, -4*X \ay+5 ; —12% 1‘-§§y
1.x =4y
“2=3+x 2 = 54y
Q;"") =% & =32y




The Division Point of a Line Segment

- Alex and Benjamin are sitting at home
and talking on the phone with each other.
The location of each of their houses is
indicated on the graph provided (scaled in
kilometres). During their phone call they
decide to meet up. Over the next thirty
minutes, Alex runs one quarter of the way
to Benjamin’s house and Benjamin rides
his bike five eighths of the way to Alex’s
house.

What are their locations now and how far
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The Division Point of a Line Segment

. %+ 2 (%am %)
1. Alex and Benjamin are sitting at home \

and talking on the phone with each other.
The location of each of their houses is
indicated on the graph provided (scaled in
kilometres). During their phone call they
decide to meet up. Over the next thirty
minutes, Alex runs one quarter of the way

to Benjamin’s house and Benjamin rides
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his bike five eighths of the way to Alex’s
house. \.
What are their locations now and how far i o -
apart are they?
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